oS JEoA A M 2 AB 9 EHo|1,
MN //BC °ltt. a+ b 2

=

5 @6 @7 @®s )

a=5b=4
La+b=9




o2 OolA AD//BCOJAL, A E, F &
Z} AB, AC 9 3 o, BC 9] Zo]=?

@ 6cm @ 8cm @10CH1

@ 12cm ® 14cm

AP FHAZA | 94,
EG =2cm ~EF =5cm
w2kA BC = 10 cm




3. th3 199 aABCOlA AB9] F3°] M D, AC o] ¥ EY
o, x 4y ] g F-stoft,

DE //BCO|2& x° = /AED = 30°
y = 2DE = 16
" x+y=30+16 =46




AtthE] & ABCD oA AM = MB, DN = = o] 7+2
S aerat , CY o, x9o =

it

it

(1) 8cm

v V. v Vv
0
i

0
I

(2) 6cm




& 2”14 AD //PQ//BC ©] 1, M,N
+ Zt7H ¥ AB,DC 9] FHolth. AD =

6,BC =10 & |, A& PQ & Z2ol=?

©1 @32 B®3 @®4 O5

-6

[es}

/

\
(@]

Wz%ﬁzza,

PN = ;BC=5,

PO—PN-QN=5-3=2




the J™oA A G7F aAABC o] A ZEAlo]|1 AABC = 36cm? Y
o, AL BE O] Yo|E Jtotofat,

(1) (2)

>
>

B D C B C
> E
> £
[> Heh: (1) 18 cm?
> & (2 12cm?

B ,

(1) AABD = %AABC = ~-36 = 18(cm?)

-36 = 12(cm?)

W= N =

(2) AAGC = %AABC =




th2 1o A BC 2o 4 M,AM 9] &
A& N o]gt1l 5t4F AABN = 5cm? ¢

AABC ©] §o]E F-atei=t,

El

>
> Hg 20 cm?

B

AABN = iAABC ,

5= 411 X AABC |
- (AABC 9] Hol)= 20cm?




th el DABCD = B9 Zol7} 15em 9 2 Akzkgolct,
 P.Q.R.S 7t BABCD 9| 2 Wle] 349 o), oPQRS ¢ Fejl
Zolg Fatofet,

A S D
AN
\
P \\ R
150131
B — =N
Q
lér cm

>
> HE D 30cm




o B AR LAt
ko] A2 AZAEZ|

5

® SHATEE - oER

@ AHAAR - PhE R
CRREMCARE




10.

thS 13 9] AABC oA Al o] FHS
D, E, F &t21 & uj, ADEF 2] E¢]¢] Zo]
£ otofet,

12cm

— 11— 11— 1_——
E + EF + FD ZEAB+§BC+§CA
=34+5+4=12 (cm)




